1.) Find the value of x which satisfies the equation below:
a -(Bx+17)=z(8x - 10)
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2.) Which approximate value of x satisfies the equation shown?
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er k can be determined in the following way: Multiply m by 2, add 3n to the result, and subtract (4m — 5n) from this sum. What
'ms of m and n?
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1.) Solve. Sect. 2-4 Cont.
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1.) Two classes, 1st and 2nd hours, are trying to raise some money for charity.
After one day 1st hour has $5.30 and 2nd hour has $3.65. First hour averages
$0.40 a day after the first day and 2nd hour averages $0.55 a day.

Write and solve an equation to find the number of days it will take for the two
classes to end up with the same amount of money.
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2 ) Recreation You can buy used in-line skates from your friend for $40, or you can rent some. Either wa)‘ you must rent safety equipment. dow

many hours must you skate for the cost of renting and buying skates to be the same?

Relate cost of Slus safety skates plus
f equipment rental

~ 5 . equals
friend’s skates equipment rental

Define Let 7 = the number of hours you must skate.
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SKATE RENTALS
In-line skates and
safety equipment

$3.50/hour
Safety equipment
$1.50/hour




1. Container A and container B have leaks. Container A has 800 2. Tim is choosing between two cell phone plans that offer the

ml of water, and is leaking 6 ml per minute. Container B has same amount of free minutes. Cingular’s plan charges $39.99
1000 ml, and is leaking 10 ml per minute. How many minutes, per month with additional minutes costing $0.45. Verizon’s
m, will it take for the two containers to have the same amount of plan costs $44.99 with additional minutes at $0.40. How
water? — many additional mmutes,fXXwﬂl it take for the two plans to
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3. The cost to purchase a song from iTunes is $0.99 per song. To 4. Container A has 200 L of water, and is being filled at a rate of
purchase a song from Napster, you must be a member. The 6 liters per minute. Container B has 500 L of water, and is
Napster membership fee is $10. In addition, eaclychased being drained at 6 liters per minute. How many minutes, m,

song costs $0.89. How many downloaded songs, & must be will it take for the two containers to have the same amount of
Purchased for the monthly price of N)a{-ster to be the same ay qx sdei?
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